Py

MEFE BRHERSIFEXRR) BFHRE

Br)
4 - 8 3 - 18 9 7 11 - 4 24 -

R 4 - 8 | Juodk HAH | 3 - 18 | A% B 9 - 7 | BRA node | 1 4 | EBH noxE | 24 - AFA
11 7 5 - 14 4 - 4 7 -1 13

oy T 1 | =r e | 5 [ 1| =@t | |[mugs| o ] 4 |z2eE = | 7 — | #maE | | =] s [ pyE
9 - 2 1 - 14 6 - 2 5 4 10 -

WAE | o = o |mememm | Jiwm | | a |nmam| | wamE| s 1 o | mri | |mmewl s 1 o | nem | |xswsml 0 FRE
8 - 3 4 - 5 10 - 2 6 - 6 9 -

a1 = = a8 = = =

I 8 - 3 | &FB AFC | 4 - 5 | HHmER I% | 10 - 2 B aFEB | 6 - 6 | BRC mREE| o - R
8 2 6 8 14 - 4 6 - 7 6
= a5 - - - a5 =

) 2 RE #E 6 8 | SALHH A | 14 4 | HF0REEA RE 6 - 7 #E SLHF| 6 SHFNREEH
9 -5 5 - 12 5 - 5 5 - 8 13 -

WIOE | o . 5 | xmde wrs | s —— 12 | xEm Wi | s - 5 | &FED xmit | 5 . s | Mos xEm | 18 [ &FD
3 - 10 2 - 16 21 - 2 8 - 6

ame | 5 — 10 | mEx wx= | o =1 16 |mnsx| |mnsx| o0 =1 o | aRe wEx | 8 [ 6 | mx= =
4 - 10 13 - 7 3 - 12 7 -8 -

sk | o =1 w0 lewgsl | w8 | s —1 7 | te® BR | o 1| W8 | |gumel 1 [ 1 s | tEE -
8 - 1 13 - 1 6 - 1 1 - 8 -

muwmi| s = 7 | x=m FoeE| 3 HET e = | |psem sz | u [ NET =




